7717 Adams

Proven Quality Winches from GMP

Replacement Parts

SN

TOOLS BUILT TO GO THE DISTANCE

General Machine Products (KT), LLC
3111 Old Lincoln Highway

Trevose, PA 19053 USA

Tel: +1.215.357.5500

Fax: +1.215.357.6216

Email: info@GMPtools.com

Web: www.GMPtools.com




WG Main Gear Box Parts Identification ”WAdams

29364 (1)

29288 (1) 29332 (2) Gearbox Motor

Gearbox -a
Worm Gear Cover Gasket -
29359 (1)
29291 (2) Key

29281 (2) / 29292 (1)

Gear Hub

Proven Quality Winches from GMP
gy
29331 (1)

Gearbox End 29333 (2)
Cap Gasket Flanged Bushing 29282 (1)

31573 (1)

Key Notched
Motor Gasket

29289 (1)
Worm Shaft

g

29296 (2) Lateral Key

Gear Housing Roll Pin : —~
29342 (3) % 29337 (2) 29320 (2) 29351 (1) 16627 (1)
1/2 NPT Plug @ Grease Fitting Bearing 6410 114?1;%#92 Relief Fitting
— =———5788 (1) Drum Shafd | o
= 29349 (2
m79 (1) Rear Rail O OZ Bolt 1/2-13>$1)1/2
09324 (2)

29247 (1)

’ Washer 1/2 Lock
2 Speed Hydraulic Motor

"r

o e

B bt
At

'_ @ 28823 (2)
A Brass Pin

ot

29353 (8) 29338 (10)
Bolt 3/4-16x2 1/4 Bolt 7/16-20x2 1/4
16211 (8)
29340 (10)
Washer 3/4 Lock Washer 7/16 Lock
16799 (8)
Nut 3/4-16 29339 (10)
ut 3/4- Nut 7/16-20
29356 (8)

Bolt 7/16-14x1 1/2

O

29352 (4) 28787 (2)
Bolt 3/8-24x1 3/4 Bolt 1/2-20x5
29340 (4) 29341 (2)
Washer 3/8 Lock  Bolt 1/2-20x2 1/2
29290 (4) 09324 (4)
Nut 3/8-24 Washer 1/2 Lock
26159 (4)
Nut 1/2-20

Note:
Photos are not depicted to scale.
Quantity used are in parentheses.

27044 (2) D 2
1/8 NPT PLUG '
29330 (1) 29358 (1) 29347 (6)

Compression  Brake Adjustment 29346 (11) Brake Pad
Spring Plate Friction Plate

29299 (1)
O- Rlng
29344 (1) 29348 (1)
29327 (1
29355 (1) 29345 (1) Sprag Clutch Brake g?dgstment Oil Seal l$527
1/8 to 3/8 Clutch Coupler
Bushing .
- P "~
& kg
16627 (1) -
Relief Fitting o 29343 (1)

29326 (1) 29336 (1) Shaft/Brake

O-Ring Brake Cover 29334 (1) Coupler
Brake Housing

29_297 (1_) ( ) 29350 (8) 29356 (8)
Retaining Ring Bolt 3/8-16x1 Bolt 7/16-14x1 1/2
29298 (1) E
Retaining Ring

General Machine Products Co (KT), LLC « 3111 Old Lincoln Hwy * Trevose, PA 19053 «
USA TEL: 215-357-5500 » FAX: 215-357-6216 » E-MAIL: info@GMPtools.com



717 Adams

WG Winch Drum Area Parts Identification
Proven Quality Winches from GMP

O T O ww

g

28792 (1) o
Clutch Plate 2

&

26258 (2) 26172 (2) Drum Bushing 29372 (6) 25453 (6) © = 25827 (1)
|| Rope Clamp Washer Clamp Screw || _ Clutch Drive Bolt Screw & | Sprocket L
| __ILL 26033 (6) - pors

Screw “f"ﬂ

5) @

26118 @
28809 (1) brum Assembly 26117 (1 /
(Includes Drum Bushings 17918) E)?t. Was$1e)r Int. Washer i 25828 (1)
| Caliper Ring
\ 26243 (1)
Shifter Fork

26086 (1) ﬁ‘gf
clutch side .1 - y
30593 (1) 4 === 5333 (1)

drum side
Retaining Ring 25601 (2) 25767 (1) 1/2-20 Lock Nut
BEARING CF-5/8-S Stud "Q

‘ | 25332 (2)

28801 (1)
Bushing

29363 (1) | i »
Hanger 27433 (1) 25612 (AR) 1/4" TUBE 1/4-20 Lock Nut
Caliper for Hydr. Oil or 2
17134 (1)
Caliper for Brake Fluid
25691 (2) o
Screw 29391 (1) o
. Mounting Block .
~ o 0,’5,2?(?/\/(2) ounting Bloc| 25677 (1)
28805 (2) caliper brake Stud 25678 (1) valve ockWa Air Cylinder

17865 (2)
ﬁ 1/4-20x1 1/4
03267 (2)

&
ONQU?gg (1%) 25625 (4) Lock Washer
28802 (1) 28806 (1) Mounting Plate 10-24x1 1/4 3 |1.I7t5V2V0 (hZ)
. at Washer

Cover Ctrl Panel

28808 (1) washer Plate

E 25634 (1) % .
Terminal 25675 (1)
27337 (6) Barb Regulator
27443 (3) Elbow w
zciﬁgin(ejl-) : 27444 (3) Adaptor
16790 (2) 28807 (1) o 03293 (4)
{553 JJ._/églg)él 12/4 Standoff Mount m_m =4 6-32X.37 Screw
1/2_13)((1) 95039 (1) Stem
09324 (4) 95044 (1) cap 25690 (2)
1/2 Loc Wa 8-32x1.5
29365 (8)
Bolt 8-32 X .50

Note:
Photos are not depicted to scale.

Quantity used are in parentheses.

General Machine Products Co (KT), LLC « 3111 Old Lincoln Hwy * Trevose, PA 19053 «
USA TEL: 215-357-5500  FAX: 215-357-6216 « E-MAIL: info@ GMPtools.com



WG Parts Box ldentification W”Adams

Proven Quality Winches from GMP

17136 (1) Reservoir

32349 (1) (02-460-148)
Ratcheting Actuator for Hydraulic oil

Sl 32293 (1) (02-460-147)

17137 (1) HosE Ratcheting Actuator for Brake Fluid

P —

O |
.
15691 (1)
Drum Shaft ext.

409 § @
17135 (1) (02-460-093)

T Non Ratcheting Actuator for Brake Fluid
s e 27434 (1) (02-460-028)

Non Ratcheting Actuator for Hydraulic Oil

Also Contains 15694 Pin 3
Assembly AND 15992 roll Pin 27433 (1) (02-515_030)
Caliper for Hydraulic Oll
17134 (1) (02-515-025)
Caliper for Brake Fluid

Note:
Photos are not depicted to scale.
Quantity used are in parentheses.

General Machine Products Co (KT), LLC » 3111 Old Lincoln Hwy * Trevose, PA 19053 «
USA TEL: 215-357-5500  FAX: 215-357-6216 « E-MAIL: info@ GMPtools.com



